
**Corrigendum: A relativistic theory of the field II**
 Mississippi Valenzuela ^{*1,2}

¹ Universidad Nacional Autónoma de México, Instituto de Física, Departamento de Física Teórica, Apartado Postal 20-364, Cd. México 01000, México

² Universidad Autónoma de Zacatecas, Unidad Académica de Ciencia y Tecnología de la Luz y la Materia, Campus Siglo XXI, Zacatecas 98160, Mexico

Recibido 10 Mar 2022 – Aceptado 2 Jul 2022 – Publicado 25 Ago 2022

Introduction

In writing out the equations in section of Hamilton principle in my recent paper [1], inadvertents errors led to errant numerical expressions in “Field equations”. The main results and conclusions of my paper remain unchanged. All of the affected formulas are corrected below.

Hamiltonian principle. Field equations

In the case of the real symmetric field we obtain the fields equations most simply in the following manner. We use

as Lagrangian function the scalar density

$$\mathcal{L}_G = \sqrt{-g}g^{\mu\nu}R_{\mu\nu} \quad (1)$$

where

$$R_{\mu\nu} = \frac{\partial}{\partial x^\rho}\Gamma_{\mu\nu}^\rho + \Gamma_{\mu\nu}^\lambda\Gamma_{\lambda\rho}^\rho - \frac{\partial}{\partial x^\nu}\Gamma_{\mu\rho}^\rho - \Gamma_{\mu\rho}^\lambda\Gamma_{\lambda\nu}^\rho$$

is the curvature tensor in the relativistic theory of gravitation.

If we vary the volume integral of \mathcal{L}_G , i. e.

$$\delta \int \mathcal{L}_G d\tau = - \int d\tau \left[\frac{\partial}{\partial x^\mu} (\sqrt{-g}g^{\mu\nu}) + \sqrt{-g}g^{\lambda\nu}\Gamma_{\lambda\rho}^\mu + \sqrt{-g}g^{\mu\lambda}\Gamma_{\rho\lambda}^\nu - \sqrt{-g}g^{\mu\nu}\Gamma_{\rho\lambda}^\lambda \right] \delta\Gamma_{\mu\nu}^\rho + \int d\tau \delta\rho^\nu \left[\frac{\partial}{\partial x^\lambda} (\sqrt{-g}g^{\mu\nu}) + \sqrt{-g}g^{\lambda\sigma}\Gamma_{\lambda\sigma}^\mu \right] \delta\Gamma_{\mu\nu}^\rho - \int d\tau \sqrt{-g} (R^{\mu\nu} - \frac{1}{2}g^{\mu\nu}R) \delta g^{\mu\nu}$$

independently with respect to Γ and g , then variation with respect to Γ yields

$$- \left[\frac{\partial}{\partial x^\mu} (\sqrt{-g}g^{\mu\nu}) + \sqrt{-g}g^{\lambda\nu}\Gamma_{\lambda\rho}^\mu + \sqrt{-g}g^{\mu\lambda}\Gamma_{\rho\lambda}^\nu - \sqrt{-g}g^{\mu\nu}\Gamma_{\rho\lambda}^\lambda \right] + \delta\rho^\nu \left[\frac{\partial}{\partial x^\lambda} (\sqrt{-g}g^{\mu\nu}) + \sqrt{-g}g^{\lambda\sigma}\Gamma_{\lambda\sigma}^\mu \right] = 0$$

or $\frac{\partial g_{\mu\nu}}{\partial x^\rho} - g_{\alpha\nu}\Gamma_{\mu\rho}^\alpha - g_{\mu\alpha}\Gamma_{\rho\nu}^\alpha = 0$, and variation with respect to g yields the equations $R_{\mu\nu} - \frac{1}{2}g_{\mu\nu}R = 0$, or $R_{\mu\nu} = 0$. If we apply the same method in the relativistic theory of the field

$$\delta \int \mathcal{L} d\tau = - \int d\tau \left[\frac{\partial}{\partial x^\rho} (\sqrt{-g}g^{\mu\nu}) + \sqrt{-g}g^{\alpha\nu}\Gamma_{\alpha\rho}^\mu + \sqrt{-g}g^{\mu\alpha}\Gamma_{\rho\alpha}^\nu - \frac{1}{2}\sqrt{-g}g^{\mu\nu} (\Gamma_{\rho\lambda}^\lambda + \Gamma_{\lambda\rho}^\lambda) \right] \delta\Gamma_{\mu\nu}^\rho + \frac{1}{2} \int d\tau \left[\frac{\partial}{\partial x^\lambda} (\sqrt{-g}g^{\mu\lambda}) + \sqrt{-g}g^{\alpha\lambda}\Gamma_{\alpha\lambda}^\mu - \sqrt{-g}g^{\alpha\nu}\Gamma_{\alpha\rho}^\sigma \right] \delta\rho^\nu \delta\Gamma_{\mu\nu}^\rho + \frac{1}{2} \int d\tau \left[\frac{\partial}{\partial x^\lambda} (\sqrt{-g}g^{\lambda\nu}) + \sqrt{-g}g^{\lambda\alpha}\Gamma_{\lambda\alpha}^\nu + \sqrt{-g}g^{\alpha\nu}\Gamma_{\alpha\rho}^\sigma \right] \delta\rho^\rho \delta\Gamma_{\mu\nu}^\rho + \frac{1}{2} \int d\tau \left(\sqrt{-g}g^{\mu\alpha}\Gamma_{\alpha\rho}^\sigma \delta\rho^\nu - \sqrt{-g}g^{\alpha\nu}\Gamma_{\alpha\rho}^\sigma \delta\rho^\mu \right) \delta\Gamma_{\mu\nu}^\rho + \int d\tau \delta (\sqrt{-g}g^{\mu\nu}) R_{\mu\nu}$$

with $\mathcal{L} = \sqrt{-g}g^{\mu\nu}R_{\mu\nu}^*$ and

$$R_{\mu\nu}^* = \frac{\partial\Gamma_{\mu\nu}^\rho}{\partial x^\rho} - \frac{1}{2} \left(\frac{\partial\Gamma_{\mu\rho}^\rho}{\partial x^\nu} + \frac{\partial\Gamma_{\rho\nu}^\rho}{\partial x^\mu} \right) - \Gamma_{\mu\rho}^\lambda\Gamma_{\lambda\nu}^\rho + \Gamma_{\mu\nu}^\lambda\Gamma_{\lambda\rho}^\rho. \quad (2)$$

*mvalenzuelalum@uaz.edu.mx



Then we see a complication, since the variation with respect to Γ does not immediately yield the equation

$$\nabla_{\rho} g_{\mu\nu} = \frac{\partial g_{\mu\nu}}{\partial x^{\rho}} - g_{\alpha\nu} \Gamma_{\mu\rho}^{\alpha} - g_{\mu\alpha} \Gamma_{\rho\nu}^{\alpha} = 0. \quad (3)$$

which we wish to keep in any case. The variation with respect to Γ yields

$$\begin{aligned} & - \left[\frac{\partial}{\partial x^{\rho}} (\sqrt{-g} g^{\mu\nu}) + \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} + \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\rho}^{\mu} - \frac{1}{2} \sqrt{-g} g^{\mu\nu} (\Gamma_{\rho\lambda}^{\lambda} + \Gamma_{\lambda\rho}^{\lambda}) \right] \\ & + \frac{1}{2} \delta_{\rho}^{\nu} \left[\frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\mu\lambda}) + \sqrt{-g} g^{\alpha\lambda} \Gamma_{\alpha\lambda}^{\mu} - \sqrt{-g} g^{\mu\alpha} \Gamma_{\alpha\sigma}^{\sigma} \right] \\ & + \frac{1}{2} \delta_{\rho}^{\mu} \left[\frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\lambda\nu}) + \sqrt{-g} g^{\lambda\alpha} \Gamma_{\lambda\alpha}^{\nu} + \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\sigma}^{\sigma} \right] \\ & + \frac{1}{2} (\sqrt{-g} g^{\mu\alpha} \Gamma_{\alpha\sigma}^{\sigma} \delta_{\rho}^{\nu} - \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\sigma}^{\sigma} \delta_{\rho}^{\mu}) = 0. \end{aligned} \quad (4)$$

The first bracket is $\nabla_{\rho} (\sqrt{-g} g^{\mu\nu})$; the second and third brackets are contractions of this quantity, i. e.

$$\begin{aligned} & -\nabla_{\rho} (\sqrt{-g} g^{\mu\nu}) + \frac{1}{2} \delta_{\rho}^{\nu} \nabla_{\lambda} (\sqrt{-g} g^{\mu\lambda}) + \frac{1}{2} \delta_{\rho}^{\mu} \nabla_{\lambda} (\sqrt{-g} g^{\lambda\nu}) \\ & + \frac{1}{2} (\sqrt{-g} g^{\mu\alpha} \Gamma_{\alpha\sigma}^{\sigma} \delta_{\rho}^{\nu} - \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\sigma}^{\sigma} \delta_{\rho}^{\mu}) = 0. \end{aligned} \quad (5)$$

If there were no fourth bracket in (4) would imply the vanishing of $\nabla_{\rho} (\sqrt{-g} g^{\mu\nu})$, that is,

$$\nabla_{\rho} g^{\mu\nu} = \frac{\partial g^{\mu\nu}}{\partial x^{\rho}} + g^{\alpha\nu} \Gamma_{\alpha\rho}^{\mu} + g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} = 0. \quad (6)$$

However, this would require the vanishing of $\Gamma_{\alpha\sigma}^{\sigma}$ to which demand we have no right for the time being.

We can resolve this difficulty in the following manner. We can compute the equations of (4)

$$\begin{aligned} & - \left[\frac{\partial}{\partial x^{\rho}} (\sqrt{-g} g^{\mu\nu}) - \sqrt{-g} g^{\mu\nu} \Gamma_{\rho\alpha}^{\alpha} + \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} + \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} \right] + \frac{1}{2} \delta_{\rho}^{\nu} \left[\frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\mu\lambda}) + \sqrt{-g} g^{\alpha\lambda} \Gamma_{\alpha\lambda}^{\mu} + \sqrt{-g} g^{\alpha\lambda} \Gamma_{\alpha\lambda}^{\mu} \right] \\ & + \frac{1}{2} \delta_{\rho}^{\mu} \left[\frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\lambda\nu}) + \sqrt{-g} g^{\lambda\alpha} \Gamma_{\lambda\alpha}^{\nu} + \sqrt{-g} g^{\lambda\alpha} \Gamma_{\lambda\alpha}^{\nu} \right] - \left(\sqrt{-g} g^{\alpha\mu} \Gamma_{\alpha\rho}^{\nu} + \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\rho}^{\mu} \right) = 0 \end{aligned}$$

and

$$\begin{aligned} & - \left[\frac{\partial}{\partial x^{\rho}} (\sqrt{-g} g^{\mu\nu}) - \sqrt{-g} g^{\mu\nu} \Gamma_{\rho\alpha}^{\alpha} + \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} + \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} \right] + \frac{1}{2} \delta_{\rho}^{\nu} \left[\frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\mu\lambda}) + \sqrt{-g} g^{\alpha\lambda} \Gamma_{\alpha\lambda}^{\mu} + \sqrt{-g} g^{\alpha\lambda} \Gamma_{\alpha\lambda}^{\mu} \right] \\ & + \frac{1}{2} \delta_{\rho}^{\mu} \left[\frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\lambda\nu}) + \sqrt{-g} g^{\lambda\alpha} \Gamma_{\lambda\alpha}^{\nu} + \sqrt{-g} g^{\lambda\alpha} \Gamma_{\lambda\alpha}^{\nu} \right] - \left(\sqrt{-g} g^{\alpha\mu} \Gamma_{\alpha\rho}^{\nu} + \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\rho}^{\mu} \right) = 0. \end{aligned}$$

Therefore, we form of the second equation

$$\begin{aligned} & - \frac{\partial}{\partial x^{\rho}} (\sqrt{-g} g^{\mu\nu}) - \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\rho}^{\mu} - \sqrt{-g} g^{\alpha\nu} \Gamma_{\alpha\rho}^{\mu} - \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} - \sqrt{-g} g^{\mu\alpha} \Gamma_{\rho\alpha}^{\nu} \\ & + \sqrt{-g} g^{\mu\nu} \Gamma_{\rho\alpha}^{\alpha} + \frac{1}{2} \frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\mu\lambda}) \delta_{\rho}^{\nu} + \frac{1}{2} \frac{\partial}{\partial x^{\lambda}} (\sqrt{-g} g^{\lambda\nu}) \delta_{\rho}^{\mu} = 0. \end{aligned}$$

Acknowledgements

I thanks to the IF-UNAM for being an associate student while I have elaborated this work.

References

- [1] M. Valenzuela. A relativistic theory of the field. II: Hamilton's principle and Bianchi's identities,

Revista de Investigación de Física, **24(3)** 12-24 (2021). Doi: <https://doi.org/10.15381/rif.v24i3.14375>